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CLINEAR GRAPHS |

~ SHORY QUESTIONS

Q.1- Fmd three pmnts on the lme whose equatmn ;s y=2x

Solutlon- _ |
" The gwen equatlon is y = 2x . o
© For x= U L, y=20=0
© =(0,0)  isontheline. R
~For x=1 , . y= 2(1) 27 |

=(1,2)  ison the line. .

" For. x=2 , y= 2(2) 4‘ .
© =(2,4)  isonthe line. .

 Thus (0,0),(1,2),(2,4) satlsfy the equatlon y= 2x
Q.2- Construct the table and draw the lme whose
| _equation js y= 2x +1
« Solutlon- |
o Let us conSIder the equatlon y 241
When x—-—-2 y= 2(—2)+1——
, x=-1, y=2- 1)+]-—*
\-'x—O, y—'2(0)+1-.1- |
x=1, y=2(1)+1=3
x=2, y=2(2)+1= 5 )
- The followmg table shows ﬁve palrs of values of x and
ymentloned above. ~ . S
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' T | 21 71 0 1 1712
| y=2+1| -3 -1 ! -3 -5

i

We use 2 small squares = 1 along both x and y-axxs -

" 'Q 3— Draw the graph of y Zx +6 | B
Solution:~
| Ifweput x= 0 in y= 21+6
We get y= 2(0)+6 6 i. e y= 6
 Similarly putting x =] + 243
We get the value of bd: as shown in the table.

oy b0 | 2l 6 | 8 | d0| 12
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Q 4~— . Graph the gq;;tmn X= —2
Solutlon -

The equatlon x= —2 can be ertten
asx+0y--—2 1fweput y=0in
~this equation, we get x-—.—2 Snmlarly puttmg

Cy= +1+zt3 |
. inthe equation x = 10, y-"'—Z we have x==2.

[N

For all values of y we have x=-2,1. Le. x remams
* constant. i
‘Table of values of x and y Is as under

2 |2 222121272
ol =3 2 fo 1| 2 3
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A AN Y
"..._3
42
x=~2 T/
« st >
CX 12 ".l | 12 X '
e o -
~2+4
- 34 o
v v

N Q. 5- Draw the graph of equation y = 5 _ .

. Solution:-The equatlon y=J5 can be wrltten as y= 0xx+5

Ifweput x=0 in the equation we get y=J5 Similarly
putting x=x/x2,%3,... in the equation y=0, x+5,
we have. v=23_Forall values of x We have y=35 ,'i.g.' .

y remains constant. Table of value of x and y is as under: -

x -3 =21 -1 0 1 | 2 1.3
y- {5 VbS5 s s s s o5
Ay
4—-*

E
. 2___ ‘ -
, . 1+
—t—t+—t—t—t5—t——t—+—t—
X 5432 12 34 X
v Y
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O Q.6-

| 'Ans. ‘

Q-

" Ans.

| '.Q;8_-.

Define Domain and‘Range of a linear funtion.

A funtion is a set of ordered pair of the kind (x,¥)

where %,y € R The set of all suitable values of x is
called Domain and the set of all suitable values of yis -

called Range of the functton Usually, in case of l1near |

funtlon
Domaln of funtion = Range of funtion.

‘And both of these are equal to the set of real numbers ;

Define lntegral subset of domain and integral
subset of Range of a-funtion.

‘The sét of only suitable 1ntegral values of x for a linear
function is called 1ntegral subset of Domain of the

funt10n

Draw the graph of y= 2X+1 and find mtegral_
subsets of Domain and Rang of given funtmn

Solutlon

The graph shown in the ﬁgure isofa functton
y=2x+1. This graph has been drawn with the help of

- the followmg ordered pairs. A( =2, —3) B( —1 -1 )

C(0,1), D, 3) and E(Z 3).
From these ordered pairs we eonstruct a table

consisting the value of x and y.

=2} =21 o | 1 | 2

BN 305

| In a function y .'——* 2x+1, the set cons'isting of__the

values of x is called the domiain and the set consisting

~ the values of y is called e range of the functlon e

Thus for y=2x+1;

Integral subset of Domain of functlon .

,_{ -2-1,01,2.. J
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"-‘_‘__—_-_-—___—__—‘-

Integral subset of Range of function
w1135,

B, P
[

Q.9- "What i is meant by converssmn graph" o N
Ans. Two different units of a single physical quantity. can
“be intercoverted by a mmple linear graph. The stralght_ K
lme used for this purpose is callcd the ¢ conversswn graph -
Q. 10- Défine the term "Ordered Pair". | ’
Ans. - An ordercd palr is a set of two elements i n ‘which order
of elements is also u‘nponant Ordered palr of x and yA By
is denoted as, () -
Note that for two sets' -
{x ,y} {y.x}, but. (x,y)¢(y,x)

g
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SOLVED EXERCISES

o EXERCISE?It e
© Q.1- - Represent the pomts on the graph whose
- ~co-ordinates are glven below.

AR ) BG2)
(i) C5-1) (i)  DE3I)
™ BB ) F(;3,7)'
S @) GOT i) HGSP)
"_Solutlon o ’ o

e g i g s g

T T . '-m“

1 H

T
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[U]
 Ans.
" (i)

: 'Ans.
‘(ii‘i) |
Ans.

e
'Aris.v
‘;'({,').'

Ans.

Write down the co—ordmates of:
Origin

Co-ordinates of Orlgme =(0) 0)

A point lying on the left hand side of x-axis and at

a distance of 5 units from the origine.

A point lying on left 31de of Origene on x-axis 5 umts
~from Ongme =(=5,0) | -
A point lymg on the rlght hand sxde of the orlgme' :

on x-axis at a distance of 3 units from the origine.
A pomt on right side of Origine on x-axis at a dlstance o

~ of 3 units from the Origine =(3,0)"
"A pomt lymg above x- -axis and on y-ax:s ata

]

distance of 4 units. - - RS |
A point above x-axis on y-axzs at a dlstance of 4 units -

from Orlgme =(0, 4)

A point lymg below X- axns and on y-axns at a
~ distance of 6 units. ' |

~A point below x-axis ; and on yaxts 6 umt from Orlgme
=(0:=6)

A
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Q.3- Draw the figures wnth help of the followmg pomts
) on the graph paper | ,

() A2, B(-6-3), C53) |

(i) A(,-7), B@3,-2), ' C@0),  D(5,6) E(7 8)
(i) A(4,0), B(O4), C(-40)  DO4)

(iv) A(10,6),.- B(-10,6), C(~10,-6) D(10,~6)

“Ans. | : o

(i), r " S (”) “ A ;MT . _7(—

[ AR

) y - { v LA B L I I/ R S A ﬁ‘ T \
creTTT T Ty > [ T S
VNIV {.}_:u‘; ? 3 56 v "
PESESd = ST . ‘ =
A, . : . h 22y
e Lo» . B L" y’
e - : i ‘
ﬂ*ﬂwﬂ ; . N ’ i s'(\

W=7 g

Gy o, N
‘ .A:‘: C o . - nw! o

o ., . g T B

A
.Xf

R e Rt “’:‘., H .
-

v . A
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EXERCISE 9.2

Draw the graph of y= ?x
Solutlon '

In the giver equation put
x==3~2~10,1,23
We get the values of y as:
y==9,-6,-3.0,3,69

So, We construct the table. -

254

X -3

1

“]

0

=6

. \“;3.

T

0

~ So locate the pomts '

 A=3-90(~2.-6),(~1,-3), (owrl 3), (2.6) and (3,9
~ onthe graph paper and Jom them to g,et a stralghl line

:vas the requnred graph

A

b v - .
S i HIER'E
P

- ;, Fid.m

R
-4?

L of Kt

g

T
(0,4

REISR S /) g

3

! *

SELOMIRNN RN R SR A
L R T

<
NS B
o
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| Q2-— Draw the graph of y= x+7
- Solution: | - -
Replacexby the numbers —4 -3, -2, —1 0.1, 2
Wegetthevaluesofyas3 4 5 6789
So, We get the table. | - o
x | - | 3| 2t 0 1 |2
vl 3 {4 | s 6|7 | 8| 9
-On the graph paper locate the points |
(~4,3),(=3,4).(=2,5).(~1,6),(0.7),(1,8).(2,9)

'and jion them to get the requlred stramght lme
Co. . A\’ ‘

C e L edda
D29
} }p!‘(w..s', '
. " 7 g 7 '

, jj T B0
A=l T-fi

B
i

- R )

X'( ™ P S Y Trp——r |.1 T rr‘l'ﬂr
. H) 9 -8 -7 - 5 -4 -3 -2 ! 2.3 1 5 6 7T XY IU_ ‘

- Jit

S - . i S o '
Q’3- Draw the graph of y= 2x 3 R
Solution: - B

In the glven equatlon put the values of x.
x=-3-2-1,012234,5

We will get the values of y as:
y--9—7-5-3-—1 01,337
‘Now we have the table.
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S R 2 R N B B 5]
y '7'9 1 =7 "'5 -3 -'1 7

o -'requlred strenght line.

Q4-

So the points on the line are

(~3,~9).(-2,- h(= 1-5)(0 3)(1

(3,3),(4.5),(5,7)

Locate these points on the graph paper and draw the

A

-
P

‘b AR,

L fray

iy J - N
. L Ll L] ¥ L) T _l'g
. R . LN S N N B F o
N AR R T W
- r

F Did -1y

L
¥ cui-y

| " "1

Y it i o

™
£ 5 8 7

Draw the graph of y=4x+1
. Solutlon " | | ,_
Put the values of x in the gwen equanon as:

—p——
§ 9 - -

x=-2-1,01,23
- Weget y=-7-3,1,5913 L
- -So the table of values is S
x | =2 | -1 0. 2 ] 3
y | =71 3| 1. 9 13

Thc point on the graph are.
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(=2i= 7)( 1, —3) (0.1), (1 5),(2,9) and (3.13).
~ Draw these points on the graph and Jomt them 10 get
the requlred lme |

ﬂ‘."
| : i" g Fly
=
L
! L H)[‘l
.- /
\’L Co 'm..hﬂ‘-t .
A AN R R R L
| BN AR N
‘3(—1'._-—_3,' ff' -_; ‘ _
f e e
. g o .
| AQ §- Draw the graph of Y=""i""5 o
. / :
_Solutlon - . S
_ 'Replacexby numbers ~7 —5 3 ] 1, 3 5
. We get the values of yas:
| y=2, 10 [,-2,-3,~ 4
So We get the table | L -
.| =7 | =5 | =3 | -1 1| 3| 5
y 2 1 )0 -1 | -2 ——‘3; | ~4

- Thus the points on the line are.

(~7.2.(=5.0).(=3,0),(~L=1),(1,=2).3,~ 3.(5,- 4)

Locate these pomts on graph and _]01n them
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)|'<1l||Tﬁ71T1

[ TPV S S AT S B AT

CAr 2

CE a0
_’H(U_-h.'.j) .

4, :

Q.6- Draw the graph of Y=X~ 1 ;.

Solutlon
“Inthe glven equation.
Put x=-2 we get

Putx=-/  weget
Put x=0  ‘we get

" For x=1" .
Forx=2 . |

i .

 For x=3

y=-3
V=2
y—-1
y=0
_y=1 S

~ Thus the | pmm:, ou the lme are

(~1,-2),(0,- 1),(1,0),

(2:1).3.2)

" Locate these points on the graph and Join' ther'n.' .
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Q.7- Draw the grap‘h‘of y= ZX— 3
Sohmon Consider the equation y=2x=-3

~ . For x=-2 ,y==7=(-2,~7) isontheline. .
" For x=-lLy=-§ =(-1,-5)  isonthe line.
‘For x=0,y=-3=(0,-3) is on the line.

For x=lLy=+1=(-1) ~ison the line.
For x=2y=I=(21) isontheline.g
For x=3,y=3=(33) “is on the line.
~ Thus locate these points on the graph-and join them.
. Y : .
* :;0‘ ‘ A
.r-; ; (:*‘:
I fuw
ey

AN -3 By
o };L .
Ct-f -3} a5
~i-3i8 ks
P
. S
Bi=27) f L7
R _’,f . .
RIES N 3 v

JJ‘ﬂ"AQM_%

. B . ' B
S
. YIRS R G Y i -4 3 1 1” [ 'f 2
) . . : jhi ~hr
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Q.8- Draw the graph of y=3x+ 5
Solution: .

C0n31der the equation Y = _3x_+5 A
~For - x=-3,y=-4=(-3-4) isonthe line.
For  x=-2,y==1=(-2-1)" isontheline.

For., x=-ly=2=(-1,2)  isonthe line. -
For x—ﬂ y=3=(03) - is on the line.
“For x=Ly=8=(1,8)  -isonthe line.
Now locate these points on the graph and j JOII‘I them.
, ' AY
X
cms Es "
. ,3_ .
HE
BELNE §2
L4 V . ¥ i { |
LTI T T X
=21 ‘b’m‘ ! .
1%
=

. Q-g" “ _Dl‘aw the graph of Y= .2_ | .‘ .
'S,o,lution:' |

4_3'

Consider the equatlon }’ 2
" For x=-4, y——2=>(—4 <2) s on the line. |
For x=-2,y=-1=(-2-1) ison the line.

For x=0,y=0=(00) " ison theline.
For x=2,y=I1=>21) . is on the line.
For x=4,y=2=(42) is on the line.

* Draw these points on the graph paper and join them
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x < v LT . > -
1o Y . A
4
-+
X
-
Vi

Q 10- Draw the graph by plottmg A(1,0), B(7, 0) and C(1 8)

Solutlon

A

Y, S

v

LS Cei Xy

.‘ .Q.lll-’. Draw the graph frqm the given tables.

().

x

X

3

l’,

0

T 1

=)

y -

"__5‘

-3

-1

1

3

BT

Solution: From the values of X and ¥ glven in the table

- We get the points

(3 5)(2 3)(1, 1)(01)( 13)(

5) (—3 7)
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Draw these points on the graph and join them.
p

. ¥ R .
PR s W
AN "
, .
1—';~:.5;\\ L,
AL e

‘ 11'(*;’.3;”'5%‘“ 14 N

“F -

T

e . . .
\’ AR T L T T L] L) T ) 'l' §I Ll T L) B T ¥ T T T }Y’
JEY SRR R, NP B Sy . I A I

10

x | 3] 2|t { 0| 1] 2|3

y | -1] o0 1] 213]4]35

" Solution: From the values of X and y gwen in the table..
‘We get-the paints |

(=3,~D,(~2.0),(~1,1)(0,2); (1 3)A2, 4) (3 5

" Locate these pomts on graph and draw the straxght lme
4\’ B .

*

¥ s
F . A GBS ‘
L & ST
't .;Ji’.gu;
ponks

BRI R TY AN )
B0y
-
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ldentlfy through the glven graphs the domam and the
‘range of a functlon
.Q 12- |
%%
* -‘: y=3=1
| B AN T R
I | -
;'v—l-l -TJ - )] '; :’t"
R TaY T
Solutlon S
| The 1ntegral sdbset of Domain = = . '
The set of mtegral values of x = { »=1,0,1..}
the integral sub setarange=". ... |
The set of integral values of y ={...~4, -1 2.}
Q- e
>
Solutlon

The integral subset of Domam =
The set of integral values of x = {---,—3, -1,0,1,2.}

 the integral sub set a'range = - B -

| The set of integral values of y ={,——40 4}
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= .

Qol4- R
' . ‘I\Y .
- : o po= 3x+5 |
. : i . 4 )
Y TET I B S C
IS IS
-2
3
. WYy
Solutlon . |

The integral subsets of Domam and range are E
The set of integral values of x ={...,~2,-1,0,1,2..}
" The set of integral values of y = { ,2.3,8. 1

. EXERCISE9.3
Q.1- The table gives temperatures in dgrees
. . Fahrenhelt °F and the equlvalent values in degrees

. Centigrade °C. o
Temperatures in 'F| 57 1126{ 158 194
‘, Temperaturesin °C| 14 | 52 70 | 90
| - Plot these points on a graph paper for centigrade
values from 0 to 100 and Fahrenheit value from 0 ’
to 220. Let 5 small squares represent 20 units on
-+ each axis. Use your graph to convert the followmg
(@ 97 °Finto °C (b} 127°F into °C '
G 25 'c into "F o (d).. 80 °C inte °F
Solutlon o . - - -
Accordmg to the given scale take Centlgrade degree |
»along x-axis and Fahrenheit values along y-axis.
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)

The pomts (14 57) (52 126) (70 158) and (9() 194)
" are gwen Locate thesé pomts and _]ommg them.
Draw the stralght hnef Lo T e

The graph shows that T
(i) Conespondlngto 97 'k, the pomts on the
- graph gives, (36.10) ic ]

| (ii" - Slmilarly we can ﬁnd 127 ”F 52 8 "C
(i) - 25%C=77F
() _80"C 176”F :
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e -

_Q.Z- The table shows the conversion from US Dollars
' ($) to Pounds (£) for various amounts of money,

B -; 50 | w0 | 200
£ 1 3 70 140

Plot these points on a graph paper and draw a .
straight line o pass through them. Let 5 small .
squares represent 50 units on each exis. ‘
. Use your graph to convert the following:
“-a)” 160 dollarsinto £ b) -.96.dollars into £
c) 120 £ mto dollars d) 76 £ into dollars
Solution: |
“ Accordmg to the given scale Draw Xx-axis and y-axis,
~ taking US Dollers along x-axis and Pounds along
y-axis. From the given table the points (30,35),
( 1 00 70) (200 ]40) are. taken and Located the lme

? e o I
A

manstl
T e
i/ ! g._. -

.‘ ‘By this line Dollars and POundS cao be inter com‘/‘crtiblé.'
" (a)  Corresponding to / 60 dollars we nate the point ~
(160 IJZ) So it means , o

P . W

" .
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160 Dollars 112 Pounds
- Similarly, with the help of thlS graph
We see that
(b) . 96 Dollars = 67 2 Pounds.
(c) 120 Pounds = /7.4 Dollars.
" - (d  76Pounds = /08.6 Dollars. |
Q 3- The table below gives various dlstances in -
‘ kilometers with the e walent values in miles. -
Kllometers 0 | 100 . 200 [ 300
Miles - 0 625 125 187.5

Plot these values on a graph paper takmg_l() small

squareés equal to 100 kilometers on x-axis and 10
- small squares. equal to 100 miles on y-axis. Use-
your graph to convert the following: |

~a) 140 kilometers into miles b) 175 kllometeré into miles
- ¢) * 50 miles into kilometers _d) 100 miles into kilometers

‘Solution: According to the given scale and table. The pomts-

‘and lme are drown on graph paper as gwen below

SN




n
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~Thls conversion line shows that -
(@) 140km . = 87.5 Miles. N
() 175km = 109.40 Mlles o
(c) ~50Miles = 80km. .
“(d) 100 Miles = 760 km.
Q.4- Use the graph in article 9.2.3 to convert.
| (a) 6 acres into hectares..
(b) 18 acres: into hectares.
"(c) 24 acres into’ hectares.
(d) 6 0‘7’02 hectares mto acres.
Solutlon o ot e

H

The graph refered in the questlon is given’ below
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" I T o S T T T - ———y =

| Q.-

"

(i) - |
- (a) ordlnatg, (b) abscissa  (c) origin (d) straight line
* The perpendicular distance of point from x-axis is called

(i)
‘(iv)

o
- (vi)'
il

- (viii}

o

(a). 6 acres © = 2.4278 Hectars. B
(b)  18actes - = 7.2833 Hectars.
(¢)  24acres = 9.7111 Hectars.

d) 6.0'702,Hectafs = 15.00 acres.

Review Exercise9 .-
Encircle the correct answer. .
The Lo-ordmates of orlgm are - B .
(@ (.0)  (6)(01) ©00) (@ (L1)
The perpendicular distance of a point form y-axis is called

(a) ordinaite (b)) abscissa - (c) orlgm (d) stralght line
For x = 1 in 2x+y= 6 wehave y=?

@8 w4 (-8 '(d)’f*4'

For y= 2in 2x~y= 6 wehavex 7

@4 (b)) -4 @2 (d) =2

: Graphs of equatlons in the form y = ¢ héve y co—ordlnate
(@l - (e (O -1

Gtaphs of equatlons in the form x = a have x co-ordmate |

- @a (b)) undeﬁned (c)l . @c

'f(x)—z As<x<l2, xlsamultlp]eof 2

The domain of f(x) is:

(@ (4681012} - - (5){6810}'
© (68100 (@ {23456

'-ffx)-'z-' 4<x<12 xlsamultlpleof 27,

- The range of fx) is:

(a) {4,6,810,12} - (b) {23456}
©1343) -~ (d{23456) .
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pp-—y i . I,

- (x) If y= 3x, , then for x= > ,we have y=?

@0 - (B ) ‘3 ‘ (d).2
Ans: - o o
S @We | @b @) a b ()b

wa | (b © i) a. | (i) a
)b | me | |

(;l.Z- Fill in the blanks

(i) A plane consisting of two number lines OX and OY

_‘ mtersectmg at ng,ht angle at ‘0" is called a -

(i)  The perpendlcular d:stance ofa pomt from y-axis is |

o called A - L

_ .(iii)  The perpendicular distance of a pomt from x- axns I8 .
‘ called . - = | |

(iv) The palr of numbers (2,3) is called an

- (v)  The horizontal line X'OX i is called

(vi) . The vertical line YOY is called

o _(Vii)ﬂ Fora pomt( -1,-2) we move / umt towards left of
) “O”and 2units____ - |

(viii) The co—ordmate of origin are_ ‘ .

o (zx) An equatlon for a stralght hne that cons:sts of y term is

as |

- (® In the graphof 2x +y = 6, the x-intercepf is

Ans: -

(i) Co-qrdina_tg (il)Ab;eis.;;a ,(l'it) : Ofdinate {iv) Qrdered
~ plane B R | - pair

{(v) x-axis. - {(vi) y-axis '(vii). Downward | (viii) "(0,0) '
R | ] of x-axis | |

(ix)y=c T (x)3
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oy

Q.3- Draw the figures w:th the help of the followmg
| _points on the graph paper. R

f'Solutlon c )

| (z) A5, 2) 8(6 3) andC(3 5)

T ,
'(U

- J

’ g‘f?#é_-i) .

V}’

R L
7 :

(i)~ ts

AR T

- o .-

Li 0 L} L] i L ¥ T ¥ ¥ ¥ ’A .
Y ¢ 5 8 > & 9 M
¢ .

-3 . & Re3-2

{00
-3

Arh-55 s

i

"V'Y"V

(i) AB,4), B(6.3), C(-5,-3) and D(10,-6).
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Q.4-  Sketch the graph |
()  Sketchthe graph of y=3x+ 2
| Solutlon Put different values of x in  the equation.

For - x=-3,y=-7=(-3,~7) monthegraph'.'__ |
For x=-2y=-4=>(-2,~4) /ison the graph.
For  x=-ly=-1=(-1,-1) ison the graph. »
For x= Oy'2='>'(0 2) - - 18 on the graph.
- Now we plot these points ongraphpaper and jOll'l “
themasgrvenbelow '
Y.
O VI W
‘. :‘: 1'2..81 :
::_ﬂa-’}
o ) ’ :v.(o.z;' —
¥ ST T T
' o G ulis : o , ot
. 'ITJ.»?) :6
o | ‘ 'vr‘
(i) Sketch thc graph of y= 2x+1 |
Solutlon . | |
Replace X by dlfferent numbers. | SV
_For x=-3,y=-5=>(-3,-5). -isonthe graph.
For x==-2,y=-3=>(-2,-3)- o “is on the graph.
For - x=-1, y=-l=(-1,~1) - isonthe graph. -
. For x= 0y==1=>(0 1) is on the graph.
‘For . x ,_2y_=_3=>‘(2l 3) s onthcgraph.



Mxmmmnﬁmﬁm' S L

Now plot these pomts on graph paper and join thcm.

.’X -

I"I‘ll"
3 45 6 7

. | o +y

(iii) Sketchthcgraphofy x+l

Solutlon -
- For x=-2, }’="1=?("2 “1) is on the graph ._

For x: =~Ly=0=(-1, 0) is on the gmph

" For - x=0,y=1=>(0,1) ."1svonthe‘graph.'
For x=ly=2=(1,2) is an the graph.
_For x=2y=3=3(2,3) . isonthe graph. -

| - qLocatcthcsepomtsongraphpaperand;omthemas |

ngcn below.

- Solution: Replace x for different numbers |

- For x———3 yz—-]::b(—.? -—1)

.M’

L 3

' ?4,2) . "
~ .
1@

B 4 NS T

-3 2%} _L"J 2 3.
N
S
o | x 5
‘(') Skctchtbegraphofy=“3”2

isonthegraph.
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For xf-'_-‘—l,}"':—?.;‘:i(-_'l,‘-rZ) - igon thé graph -
For x=Ily=-3=(1,-3)  isonthegraph.
For x=3y=-4=(3,~4) _  isonthe graph.

- Locate these pomts on graph paper and Jom thcm as-‘ L

glven below.

e Skctchthegraph of )’ =3x +4
| .‘Solutlon - .
chlacex for dlffermtpmnbcrs | - A
‘For x=-2, y==23(-2, -2) is on the'graph.'
~ For ‘x==Ly=I=(<I;]) " isonthe graph.
For. x=0y=4=(0,4) = is onthcgraph.
For -x=Ly=7=(1,7) - isonthe graph. -
For x=2y= =10=(2, 10) is on the graph.
Locate these points on graph paper and ] Jom them as ‘
givenbelow. &
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QS5- anthegraphbypmngpomA(Zﬂ),B(?.O)de(Ls) -

e

X et _

-9 8 -7 6 -5 4 -]

N : - ’ . -
< : . 3

.-Q6— If f(l)  45x<12 apnd x is an integer
- multlple of 2 Then find the domain and range of f(x).
. Ans. As4<x<I2 and x is an integer multiple 0f2 So.

.values of x in the funtion. We get S
. X =‘—:> 4 =—=2 '
IR f() 2 .f() 2]
- For ,,x=6:>f(8)=3—.4 |

For  x=105 f(10)= 19__.5 e

Fm— x= 12:>f(12)=£..6' |
Thus f{))={(4,2),(6,3), (8 9,(10,5,(12, 6)}
So. Dom: fix)={4681012} -
 Rog: fy={23456}



Q.1-

SN

- Q;3-;

"-Q,s._

© Q8-
- (@ Ordinate . (b - Abscissa -
Q9-

The equatlon of a lme parallel to x-axis and beloiv -

 MULTIPLE CHOICE QUESTIONS
Tick the best of given choice. .

'_Chéoscﬂlewroﬁgstaﬁemem S o
@ k=it ®) GY=0
. 0 D=1 @ (9= (PQ)

The point ‘(—3 0)is

#@  Onx-axis ) ',Ony-axzs s
@ lAbO‘.’ex‘_axiS (@  Blowx-axis -
@  Awyesline () Neverline
) Somctlmeshme IR RIS
@ Sometmomerman}me

. Q.4-

L

The graph oiequation y==31+1 passes thmugh
@ 0Oy B @5

) (1) @ (02
‘ThelmeY-—Sm
(@ Parallel'to x—axzs ()  Parallel to y-axis . )
@ . Cusxars (@  Not cuts y-axis
Q6 o Totalpen

The linex=-2 is o ‘_
(@ -~ Abovex-axis () Below x-axis

() Onlefofy-axis (4  Onrightof y-axis
Q7 T

The line y= 21+6 Cuts x-axis at
(@ . x= 3 R () x=-3

-

@ y=6 @ y=8

The first clement of ordered pair (x,y). is éalled

(¢) ' Domain = = (@ - “Range

-v,x-axlsls R R ST
' '.__'(a_),.‘-_-:y:-..g!;,_ o () - y=—3 |
@ xS @ x=3



 @.av- Lhe equatlon of a llne parallel to y-axts ami on -

o
K

. r:ght sxde of y-amns R S
(@ x= 3_ R ,_”__43_ L

!GDEl CI.ASS TES'I’

‘Time : OrieHour T MaxMarks 25'

Tick the best of 1 glven choica.

_'The’pomt (-3 I) is: ';
(@ Onx-axis j: o  Ony-axis
(¢ - Abovex-axis ' (@)  belowx-axis

) The point (Is4) lsonthelme""

R

+

i)

@  y=x+l M) y=22x+2
o y=2-6 - @ y=2x+6
:Thelmey 3x preasﬂu'oughthe
(@  Orgine - @B (0,])
R 6. @ (33
- Ini the function y=3x+2 thc set of values ofns
 called . S
. (@ Range S (b)Dmnmn |
" (¢) Ordinate . @ AbScissa
L 0°C 1sequalto |
@ F M w"F -
© 25°F ., f@ 32"F
- 200 Kﬁometers are equalto . |
(@ 100Mils- () .’",,‘125Mfilesa
(o) I50Miles * (d 200 Miles -
-rTwo units of the same quantlty can be inter cOnverted
"'-cas:lyby ’ E “' o

fa) - Lmeargraph . ) Nonlinear«graph;
o (c) Convcrswn graph (@ Point graph.
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- Q2-  Attempt any five questions. .
(i)  Plot the points and join them orderly.
. A0,-7),B(3,-2),C(4,0)

- (i)  Find four points lying on the lme »= 2x +3.

- (i%)  Draw the graph of y=3

(). Drawthegraphofx--—Z |
(v} Draw the graph offy=x .
(vi)  Define domam and range of a ﬁmtlon | .
f(v-iz_)u If f(x)-— 4<x<12 andxlsanmtcger, mult:pleef ."
‘ '_ 2, then' ﬁnd domain and range of fix). ;o

: Attemp antt two of the followmg qucstlons .

- 5
- ’QS- Drawthegraphof Y—"'f'-z-

Q4 Conmsiderthetable

- Kllometers | 0 | 10_0 - 200 300 |

Mies | o | e2s | s | 1875

Plot the graph and using tlus graph convert

(@ 140 km into miles (b) 50 Mlles into Km
: QS- Drawthegraphofy-——h l o ‘

ettt : -



